

Integration WS # 61-70

$$61) \int \frac{2e^{1/x}}{x^2} dx = -2 \int e^{1/x} \cdot -\frac{1}{x^2} dx \quad \begin{array}{l} u = 1/x \\ du = -1/x^2 dx \end{array}$$
$$-2 \int e^u du = -2e^u + C$$

$$= -2e^{1/x} + C$$

$$62) \int \frac{1}{x^2 \sqrt{25-x^2}} dx$$

$$\begin{array}{l} x = 5 \sin \theta \\ dx = 5 \cos \theta d\theta \\ \sqrt{25-x^2} = 5 \cos \theta \end{array}$$

$$\int \frac{5 \cos \theta d\theta}{25 \sin^2 \theta \cdot 5 \cos \theta} = \frac{1}{25} \int \frac{1}{\sin^2 \theta} d\theta$$
$$= \frac{1}{25} \int \csc^2 \theta d\theta$$
$$= -\frac{1}{25} \cot \theta + C$$

$$= -\frac{1}{25} \left(\frac{\sqrt{25-x^2}}{x} \right) + C$$

$$63) \int \frac{3e^x - 3e^{-x}}{(e^x + e^{-x})^2} dx \quad \begin{array}{l} u = e^x + e^{-x} \\ du = (e^x - e^{-x}) dx \end{array}$$

$$\int \frac{3(e^x - e^{-x}) dx}{(e^x + e^{-x})^2} = \int \frac{3 du}{u^2} = 3 \int u^{-2} du$$

$$= 3 \frac{u^{-1}}{-1} + C = -\frac{3}{u} + C$$

$$= \frac{-3}{e^x + e^{-x}} + C$$

$$(4) \int \frac{x+1}{x^3+x} dx$$

$$x(x^2+1)$$

$$\frac{A}{x} + \frac{Bx+C}{x^2+1}$$

$$A(x^2+1) + (Bx+C)x = x+1$$

$$x=0 \quad \boxed{A=1}$$

$$x=1 \quad 2(1) + B + C = 2$$

$$x=-1 \quad 2(1) + (-B+C)(-1) = 0$$

$$B+C=0$$

$$B-C=-2$$

$$2B = -2$$

$$\boxed{B=-1}$$
$$C=1$$

$$= \int \frac{1}{x} + \frac{-x+1}{x^2+1} dx = \int \frac{1}{x} - \frac{\frac{1}{2} \cdot 2x}{x^2+1} + \frac{1}{x^2+1} dx$$

$$= \ln|x| - \frac{1}{2} \ln(x^2+1) + \arctan(x) + C$$

$$65) \int \left(\frac{4}{x^2} - \frac{3}{x^3} \right) dx = \int (4x^{-2} - 3x^{-3}) dx$$

$$= \frac{4x^{-1}}{-1} - \frac{3x^{-2}}{-2} + C = \frac{-4}{x} + \frac{3}{2x^2} + C$$

$$66) \int \tan^4 x \sec^2 x dx$$

$$u = \tan(x) \quad du = \sec^2(x) dx \quad \int u^4 du$$

$$\frac{1}{5} u^5 + C$$

$$= \frac{1}{5} \tan^5(x) + C$$

$$67) \int \frac{x^3}{x^2+1} dx = \int x - \frac{\frac{1}{2} \cdot 2x}{x^2+1} dx$$

$$= \frac{x^2}{2} - \frac{1}{2} \ln(x^2+1) + C$$

$$68) \int \frac{x}{x^2+9} dx = \frac{1}{2} \int \frac{2x}{(x^2)^2+3^2} dx$$

$$u = x^2 \quad a = 3$$

$$du = 2x dx$$

$$\frac{1}{2} \int \frac{du}{u^2+a^2} = \frac{1}{2} \cdot \frac{1}{a} \arctan \frac{u}{a} + C$$

$$= \frac{1}{6} \arctan \left(\frac{x^2}{3} \right) + C$$

$$69) \int \underline{\cos \theta} \cdot \sin(\sin \theta) \underline{d\theta} \quad \begin{array}{l} u = \sin \theta \\ du = \cos \theta d\theta \end{array}$$

$$\int \sin(u) du = -\cos(u) + C$$

$$= -\cos(\sin \theta) + C$$

$$70) \int \frac{2(\ln x)^2}{x} dx \quad \begin{array}{l} u = \ln x \\ du = \frac{1}{x} dx \end{array}$$

$$\int 2u^2 du = 2 \frac{u^3}{3} + C$$

$$\frac{2}{3} (\ln x)^3 + C$$